1170°9-3 523N

B=¢d¢NA=@nA=Boxpuox AxXE =8Bx4D1n20 .nixap 4,8 nvnn
TY NI AxB=BxA=Ax4 W A=80N ,4xB=BxA4A=¢ IRE=¢IX A =¢ DX NN
'R TY DR MR INNY

MUY U0 MRN8 = ¢ I A = $u TUNT MpPn 10Mpn Y7 NINT 7191 |01 ' T¥Y N1
SJUN MPNA M2ATAY 1D DX N .NT0NIUIK O"FNN 7RAY TY [IWRIN NP2 DR (IR DIXAgD
DAl a€B P ,(a.b)eBxA4 AXB=8X AU (a.b)e AxB "IN .beBl ac 4 I'N

NW 1IN . AC B DDA MY ,a€B NP a AW 27019 g V02T 1NN XY DN . be 4
A=8pN,Bcd4d nmname bed n72'pl be Bw37 019 b 7V 127111010

NX TRIA 7Y DMQ'RN DX D910 WXOW DIWN | AUB|= 4| +|B|—-|AnBl=n+m—k .
D'M2'XN 1900 NX 7277 *T21,0"AY9 JIN'N2 D'2'KN DX 01910 DXV TR B 7U 0M2A'RN
JM*'N2 0DMA'RN 190N DK DIDONN N'N9NT7 Y TIN'K2

M901 NN DMA'RN D | AAB = A|+|B|-2|AnBl=n+m-2k ,17 D0IT |2IX2

7¢ NMj7N2 JIN'NN M2 1901 NIX 0''AYS O'N'N9N TX ,ONIX 71707 0'¥N X7 7721 ,0"nyo
-NN X' NXIP DY) | P(A)AP(B)|=| P(4) |+ | P(B)|-2| P(4)~ P(B)| NpTNN NIXIAP
OIN'NN 72U NXIAP-NN KD DX 711 0K B 7w DAl A 7w DA nxIap

17 . P(A)nP(B)=P(ANB) PN

| P(4)AP(B)|=| P(4)|+|P(B)| -2 | P(AnB)|=2"+2" —2-2F =2" + 2" — 2™
JANBYx(BuAd)|= AnB||BuAdl=k(n+m—k)

S (P} ) x BI= P(D {4\ {d} || B]= (2" =2)m

JIR2.4 X 1.7R2.4 DAl 1RL.7 7wn7 ,2'0'T1N0 N'XW DIYNA NI7'PYW ON' NI'X R
L7781 X 1S7 7wn% Mon'o 'XY DIYN NI'PY on' MI'X S
J7TL N 1T7 29n7 ,M0n'o 1I'KY DI NIF'PY oN' DN T

on' F 9) (b.h)eF DAl (NI?'pY on' E D) (a.a)eEVY 792 ((a.b).(a.b))€G NI'0O7790
(ni7pw

pUPnn F 1 E W nimon'o 972 .(b.d)eF DAl (a.c)eE "X ,((a.b).(c.d))€G N1 NINLN'O
((c.d).(a.b)eG P ,(d.b)eF DAl (c.a)eE

DAl (a.c)€E D72 WX 1M .((c.d).(e. /)G DAl ((a.b).(c.d))€G NI NIV
pUpnn F 1 E 99 nIM'omnon 792 .(d.f)eF DAl (c.e)e E 0927 W Imnnl (b.d)e F
((a.b).(e.f)EG PN ,(b./)eF DA (a.e)eE



